
Hypothesis Testing 

 

If the statistic is > critical value or < – critical value, reject H0. Else, don’t. 
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“A sample of n CBS students are found to have mean IQ X  

when they enter CBS, and mean IQ Y  when they leave. 

Differences are calculated for each student and are found to 

have sample standard deviation sD. Test, at the a % level, 

the statement that an MBA doesn’t alter IQ.” 
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“A sample of nX CBS students are found to have mean IQ X  

with standard deviation sX. A sample of nY Wharton students 

have Y  and sY. Test, at the a% level, the statement that 

MBAs from CBS and Wharton have the same mean IQ” 

 

 

For a test with test statistic z0, the two-tailed P-value is 
0

2 ( )1 Z zé £ ù-ê úë û  and the one-tailed P-value is 

0
( )1 Z zé £ ù-ê úë û  (replace Z with tn – 1 for n < 30). Reject H0 if the P-value is a£ . 

Questions, corrections – email guetta@cantab.net 


